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SECOND SEMESTER M.Com. DEGREE (REGULAR/SUPPLEMENTARY)
EXAMINATION, APRIL 2024

(CBCSS)
Master of Commerce

MCM 2C 06—ADVANCED CORPORATE ACCOUNTING
(2019 Admission onwards)
Time : Three Hours Maximum : 30 Weightage
Answer should be written in English Only.
Part A

Answer any four questions.

Each question carries 2 weightage
1. What is pre-acquisition loss ?
2. What is purchase consideration ?
3. What is statement of affairs ?
4. What is tax temporary differences ?

5. An entity’s PPE’s carrying value - 11,80,000, Revalued at Rs. 15,38,000 ; Rate of tax 30 %. What
is the deferred tax liability and the entry to be passed ?

6. What is sale and lease back ?

7. What is forensic accounting ?
(4 x 2 = 8 weightage)
Part B

Answer any four questions.

Each question carries 3 weightage.

8. Explain different types of mergers.
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9. In 2020, A Ltd had taxable profit of Rs. 2,20,000. In the previous year (2019) income tax on 2019
profits had been estimated as Rs. 60,000. Any under or over payments are not settled until the

following year’s tax payment is due.

What would be tax payable and the charge for 2020 if the tax due on 2019 profits was subsequently

agreed with the tax authorities as :

(a) Rs. 70,000 or (b) Rs. 50,000 (assume a 30 % tax rate). Calculate the tax charge and
liability.

10. Differentiate between operating lease and financial lease.
11. What are the different forms of environmental accounting ?

12. A firm had Rs. 2,00,000 as cash at bank on 01/04/2019. The consumer price index on that date
was 200. During the year ended 31/03/2020, the receipts and payments were stated below :

Date Receipts Rs. Index
June 1 Sales 1,05,000 210
January 15 Sales 3,45,000 230
Septemper 15 Costs 2,15,000 215
November 20 Costs 1,50,000 240
December 1 Costs 2,00,000 225

Ascertain the profit or loss on account of price changes. The year ended index was 240.
13. The following scheme of reconstruction has been approved for Win Ltd.

(i) The shareholders to receive in lieu of their present holding at 1,00,000 shares of Rs.10 each,
the following.

(a) New fully paid Rs. 10 equity shares equal to 3/5% of their holding.
(b) 10 % preference shares fully paid to the extent of 1/5t2 of the above new equity shares.
(c) Rs. 40,000, 8 % debentures.

(i) An issue of Rs. 1 lakh 10 % first debentures was made and allotted, payment for the same

being received in cash forthwith.

(iii)) Goodwill which stood at Rs. 1,40,000 was completely written off.
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(iv) Plant and machinery which stood at Rs. 2,00,000 was written down to Rs. 1,50,000.

(v) Freehold property which stood at Rs. 1,50,000 was written down by Rs. 50,000. Draw up the

necessary journal entries in the books of Win Ltd.
14. Explain the concept of CPPA.
(4 x 3 = 12 weightage)

Part C

Answer any two questions.

Each question carries 5 weightage.

15. Balance sheets of A Ltd. and B Ltd. on 315t March 2019 were as follows :

Rs. In thousands
A Ltd. BLtd.
I Equity and Liabilities
1 Shareholders’ funds
(a) Share capital
50,000 preference shares of Rs. 10 each 5,000 —
15,00,000 equity shares of Rs. 10 each 15,000 —
4,00,000 equity shares of Rs. 10 each — 4,000
(b) Reserves and surplus
General reserves 8,000 —
Surplus account 900 320
2 Current liabilities
Creditors 500 210
Total equity and liabilities 29,400 4,530
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II Assets
1 Non-current assets
(a) Fixed assets
Land and building
Plant and machinery
Furniture
Motor vehicles
Intangible assets
Goodwill
Patents
(b) Investments
2 Current assets
Stocks

Debtors
Cash at Bank

Total assets

D 102103

Rs. In thousands

A Ltd. BLtd.

6,000 —
15,500

— 250

— 400

— 700

2,000 —

1,150 —

3,500 2,390

800 620

450 170

29,400 4,530

A new company C Ltd. was formed to acquire the assets and liabilities of A Ltd. and B Ltd. The

terms of acquisition of business were as under

(a) CLtd.tohave an authorized capital of Rs. 3,50,00,000, divided into 50,000 13 % preference

shares of Rs.100 each and 30,00,000 equity shares of Rs. 10 each.

(b) Business of A Ltd. valued at Rs.3,00,00,000, settlement being Rs. 60,00,000 cash and

balance by issue of fully paid-up equity shares at Rs. 12.

(c) Business of B Ltd. valued at Rs. 48,00,000 to be satisfied by issue of fully paid equity

shares at Rs. 12.
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(d) Preference shares of A Ltd. were redeemed.

(e) C Ltd. made a public issue of 30,000 preference shares at par and 3,00,000 equity shares
at Rs.12. The whole issue was fully subscribed and fully paid up.
Prepare balance sheet of C Ltd. on the assumption that amalgamation in the nature of purchase

(pass necessary entries also).

16. In 2001, M/s. Wye Ltd. issued 12 % fully paid debentures of Rs. 100 each, interest being payable
half yearly on 30" September and 315t March of every accounting year. On 15t December, 2002,
M/s. Bull & Bear purchased 10,000 of these debentures at Rs. 101 cum-interest prices, also paying
brokerage @ 1 % of cum-interest amount of the purchase. On 1st March, 2003, the firm sold all of
these debentures at Rs.106 cum-interest price, again paying brokerage @ 1 % of cum-interest
amount. Prepare Investment Account in the books of M/s. Bull & Bear for the period 15! December,

2002 to 15t March, 2003.
17. Bekar Ltd. went in to voluntary liquidation. The details regarding liquidation are as follows.
Share capital
(a) 2,000, 8 % preference shares of Rs. 100 each (fully paid up).
(b) Class A - 2,000 Equity shares of Rs. 100 each (Rs. 75 paid up).
(c) Class B - 1,600 equity shares of Rs. 100 each (Rs. 60 paid up).
(d) Class C - 1,400 equity shares of Rs. 100 each (Rs. 50 paid up).

Assets including machinery realized Rs. 4,20,000. Liquidation expenses amount to Rs. 15,000.
Bekar Ltd. has borrowed a loan of Rs. 50,000 from Patel brothers against the mortgage of machinery
(which realized Rs. 80,500). In the books of the company, salary for four clerks for four months at
a rate of Rs. 250 per month and salaries of four peons for three months at a rate of Rs. 150 per
month are outstanding. In addition to this, the company’s books show the creditors worth
Rs. 88,200. Prepare liquidators statement of Receipts and payments.

18. Define social responsibility accounting. Explain in detail its scope and approaches.

(2 x 5 =10 weightage)
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SECOND SEMESTER M.Com. DEGREE (REGULAR/SUPPLEMENTARY)
EXAMINATION, APRIL 2024

(CBCSS)

Master of Commerce
MCM 2C 06—ADVANCED CORPORATE ACCOUNTING
(2019 Admission onwards)

[Improvement Candidates need not appear for MCQ Part]
(Multiple Choice Questions for SDE Candidates)

Time : 20 Minutes Total No. of Questions : 20 Maximum : 5 Weightage

INSTRUCTIONS TO THE CANDIDATE

1. This Question Paper carries Multiple Choice Questions from 1 to 20.

2. The candidate should check that the question paper supplied to him/her contains all the

20 questions in serial order.

3. Each question is provided with choices (A), (B), (C) and (D) having one correct answer.

Choose the correct answer and enter it in the main answer-book.

4. The MCQ question paper will be supplied after the completion of the descriptive

examination.
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MCM 2C 06—ADVANCED CORPORATE ACCOUNTING
(Multiple Choice Questions for SDE Candidates)

1. ——— establishes principles for presenting and preparing consolidated financial statements

when an entity controls one or more other entities.
(A) IFRS 12. (B) IFRS 17.
(C) TIFRS 10. (D) IFRS 11.

2. A—

statements from the date it gains control until the date when the reporting entity ceases to control

includes the income and expenses of a subsidiary in the consolidated financial

the subsidiary.
(A) Holding entity. (B) Reporting entity.
(C) Group Accounts. (D) AS 110.
3. —————isan asset representing the future economic benefits arising from other assets acquired

in a business combination that are not individually identified and separately recognized.

(A) Goodwill. (B) Capital Reserve.
(C) Plant and Machinery. (D) Drawings.
4. ———— is the corporate management term for the act of reorganizing the legal, ownership,

operational or other structures of a company for the purpose of making it more profitable or better
organized for its present needs.

(A) Merger. (B) Restructuring.
(C) External Reconstruction. (D) Consolidation.

5. The tax effect on the timing differences is termed as

(A) Current tax expense. (B) Income tax.
(C) Deferred Tax. (D) Provision for tax.
6. All business combinations must be treated as ————— for accounting purposes.
(A) Acquisition. (B) Restructuring.
(C) Merger. (D) Internal Construction.

7. In external reconstruction, the liquidated company is called
(A) Purchasing Company. (B) Vendor Company.

(C) Holding Company. (D) Group Company.
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8. Increase in the price of various goods and services over a period of time is known as

(A) Deflation. (B) Price Level Changes.
(C) Shift. (D) Inflation.
9. ——— Accounting deals with employees and management in an organization.

(A) Inflation. (B) Human Resource.
(C) Environment. (D) Forensic.

10. Forensic Accounting is very much useful to ————— industry.
(A) Banking. (B) Communication.
(C) Insurance. (D) None of the above.

11. Abranch of accounting which decodes the human nature to hide failures, conceal problems, defend

wrong decisions, and cover up mistakes is known as
(A) Inflation Accounting. (B) Human Resource Accounting.
(C) Environment Accounting. (D) Forensic Accounting.
12. The main elements of environmental accounting are
(A) Environmental Conservation costs and activities and environmental benefits.
(B) Environmental activities and environmental benefits.
(C) Environmental conversion costs and environmental benefits.
(D) None of the above.
13. What is the classical view of management's social responsibility ?
(A) To create specific environment in work place.
(B) Tomaximize profit.
(C) To protect and improve society’s welfare.
(D) All of the above.

14. The recognition of the close link between an organisation’s decisions and activities and its impact

on the natural environment is called
(A) Global Environment. (B) Greening of management.

(C) Social actions. (D) None of the above.
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The stakeholder view of social responsibility states that organisations must respond to the needs
of :

(A) Employees and customers. (B) Shareholders and owners.
(C) Allinterested parties. (D) All those who might sue the organisation.

A form of corporate restructuring in which the entity's business operations are segregated into one

or more components is known as

(A) Horizontal. (B) Disinvestment.

(C) Demerger. (D) Takeover.
When one company takes over the management of the target company with the permission of the
board, it is known as ————— takeover.

(A) Friendly. (B) Hostile.

(C) Acquiring. (D) Disinvestment.

accounting is the process by which companies and organizations record the financial
impact of agreements to rent or finance the rights to use specific assets.

(A) Corporate. (B) Responsibility.
(C) Green. (D) Lease.
A —— isalease that transfers substantially all the risks and rewards incidental to ownership

of an asset. Title may or may not eventually be transferred.
(A) Finance lease. (B) Operating lease.
(C) Lessor. (D) Contract.

is the estimated remaining period, from the commencement of the lease term, without
limitation by the lease term, over which the economic benefits embodied in the asset are expected
to be consumed by the entity.

(A) Economic Life. (B) Useful Life.

(C) Fair value. (D) None of the above.
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